20169 = =0 & LA TAIAFD

EA: TAASD
X DX &R TAHE
i

x
SR SAZE X4

|’l'

g Al

(o
SN ED B (3H) - MEAY - BAS %@i HD=2
S AA=D 10,914,930 8,646,936 2,267,994
= ,431,499
Xl 650,000
& 412,812
Al ,420,619
DI X &F& AR ,353,585 6,626,288 1,727,297
= ,847,000
Xl 650,000
& 195,000
Al ,661,585
SAE2 XM 12,480 611,594 A599,114
S A2 EOIE M 8,340 9,894 AN 1,554
201 et 9| 3,480 5,292 A1,812
01 AP 2t 2] H| 3,480 5,292 A1,812
OEdeE 8 2= MH
60,000 = 34!l x 13| 180
OZZ(CIXe)RE S
70,000 * 129 « 23| 1,680
OZ& (LIRS &FAX o]
81,000 = 10¥ « 23| 1,620
202 o4l 4,860 4,602 258
01 2L Y| 4,860 4,602 258
O AIZ2(CIRN)H =&
81,000& * 2% x 32 x 103 4,860
A A FAA(2L)XH 22 4,140 601,700 A 597,560
201 gEt24A Y| 4,140 1,700 2,440
02 Z2=2=24%4| 4,140 1,700 2,440
OANZH Z2(BE) AHEE AId SXd] 4,140
oMs & Sei3 HA 350,000 * 23| 700
o4&l 42y A 2
40,000 = 50 * 53| 1,000
oMAXTEHZE U ST MIRB
120,000 * 123 1,440
oZ483 gtol B4 WuE R 1,000
T AIHE Hy| 302,326 21,246 281,080
S A2 HE 2H 21,246 21,246 0
201 2Et24Hy| 16,246 16,246 0
01 AP 22| d| 16,246 16,246 0
OZAHEANELEZA MNE2ZEDES
2,200,000& * 24Xl * 23] 8,800
OSAANERE EALE
70,000& = 15 «* 33| 3,150
OZANHER/AHZ AKX 4]
81,000& x 4H x 43| 1,296




2N

SANA=H

I Ol KIEE T AN
CH: T AIAHE FH| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OCANEAL Bidee =8548
00,000 * 3 A = 23] 3,000
202 04| 5,000 5,000 0
01 2L I 5,000 5,000 0
OZAHE 2L 2F&X 5,000
CAZZIHE BHE 2 849 100,000 0 100,000
207 A0 | 100,000 0 100,000
01 gAY 100,000 0 100,000
OZAIHEANE HAHE 28 29(2c1Y) 100,000
SCAHEEAALE BE 28 24 30,000 0 30,000
207 I & 30,000 0 30,000
01 A2 E<H| 30,000 0 30,000
OZAHEANE HHE 2 A (S AIHESAILA
2|l BI6HA) 30,000
S ATRYE 22 151,080 0 151,080
401 AlEHIZL 2 0HY| 151,080 0 151,080
01 Al&H| 150,000 0 150,000
OHZ20/Z 01222 &l 150,000
03 Al 201 Y| 1,080 0 1,080
OXE=20/2 0t Ayl
150,000,000 = 0.72/100 1,080
TAZ2S 22 3,568,572 658,090 2,910,482
Xl 650,000
o= 195,000
Al 2,723,572
EAHR 22| 32,798 30,873 1,925
101 e1214| 18,948 17,473 1,475
04 JI2tHI22NEES 18,948 17,473 1,475
OZ2d & 22N B 18,948
ollza2 48,240 *« 18 = 290Y 13,990
oFELH 48 2408 * 18 * 64 3,088
o 2HAIH| 3,000& * 1€ * 290 870
o H&EF Y| 500,000& = 1€ * 23| 1,000
201 et 9| 13,850 13,400 450
01 AP 2t 2| H| 2,000 2,000 0
OxHe Hess 1Y 2,000
02 2=2=24%4| 11,850 11,400 450
OXHz2 M2 400,000 = 12&€ 4,800
OXHE &olx=k 22 250,000& ~ 12€ 3,000
OXd2 dat| 200,000 = 5€& 1,000




2N
COlHNIEE SANY

el

X ZH
S =

SANA=H

SASE 2el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZXHZR A4 &Yl ®AXbl 2,000
OFXHR d3tx 241l
53 x 42,0004 * 13 1,050
Agtate & X 22 23,254 21,857 1,397
101 @121l 15,054 14,157 897
04 JI2ZtH22XNEE 15,054 14,157 897
OdSIdRIX 22X B 15,054
oJlgaz 48,2403 * 19¥ x 2302 11,096
oFsY 48,2403 * 18 x 47 2,268
o 2HAH| 3,000& = 1¥H * 230 690
o HA SO 500,000& * 1Y * 23] 1,000
201 LEt2 Y| 8,200 7,700 500
01 AFR2t2l bl 4,000 3,500 500
OdgdRIAXN 22X MES 2,000
OdsdtsaAX 242185 7 2,000
02 33294l 4,200 4,200 0
O¢SIRAAX IS 100,000& * 12& 1,200
OdSIAMRIX AMAE SNl 3,000
SHEs 322 4,600 5,360 ANT760
201 et A | 4,600 5,360 A T760
02 3524t 4,600 5,360 AN T760
OstE3d dMIle=s 130,000& = 12& 1,560
OB Aot 2 70,000& * 12& 840
O&blE33 A8 &8 Al 2,000
OsHIEBE 33X 2 =
25% % 8,000 * 13 200
=3 M HFXY AMLIZE ZHAY 2,207,920 0 2,207,920
401 Al HI L 2T 2,207,920 0 2,207,920
01 A&l 2,200,000 0 2,200,000
OHY 22T ZHSA 2,200,000
03 A& 20 Y| 7,920 0 7,920
O 2 2& XS A 20U
2,200,000,000& = 0.36/100 7,920
AStASAR HEIAY 1,300,000 600,000 700,000
Xl 650,000
= 195,000
Al 455,000
401 AIEHIL 20| 1,300,000 600,000 700,000
Xl 650,000
= 195,000
Al 455,000




D CANAED
CDICHXKIERE S AIDNY

P EAZSE 2el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 1,295,336 596,243 699,093
Odste SAX HHIZA 1,295,336
Xl 650,000
< 195,000
Al 450,336
03 Al 20 HI 4,664 3,757 907
Ogstet SAX HHISAH R0l
1,295,336,000& = 0.36/100 4,664
SAZNnE 2el 24,642 9,642 15,000
2= AA A4 FHI 20,000 5,000 15,000
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
Osl=9 ZOoIth Xt =& 250,000& * 204 5,000
401 AIEHIZ 28I 15,000 0 15,000
01 A& Hl 15,000 0 15,000
O8=2 AHAIH HHl & &4 15,000
2= HoREs 2 862 862 0
201 £B-2dH| 862 862 0
01 At 22l 862 862 0
OzNE NoPIHE HALY
70,000& * 59 = 13 350
O=2AZ2NFHII=2E AR 4+
70,000& * 59 = 13 350
OZ1E HAAAS EFANHHI
81,000& * 2% * 13| 162
sgZ0E JH| 3,780 3,780 0
201 Let249] 600 600 0
02 8323l 600 600 0
OSREE &82= 50,000& = 12& 600
202 Od4dl 2,400 2,400 0
01 = LH o4 4l 2,400 2,400 0
O=2gZinse & ¢4 g92F4 2,400
301 L2 A F 780 780 0
11IIEtEA S 780 780 0
OsgZinsE =H2H 780
od 8 500% * 10& * 52 = 128 300
o g 100& = 50& + 5& » 123 300
o MEHX 203 = 150& * 5 « 12& 180
SAAHEEZ W4 1,054,410 2,319,884 AN 1,265,474
HAXNZ~EHH QO A T2 Z At 151,080 100,900 50,180




M &

Za:

gel: &

A2 =1t
HXI&E T AN
ANHEEZ W&

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
1 A& 8l 28I 151,080 100,900 50, 180
01 A& HI 150,000 100,000 50,000
ONXIZ~EHH LI A2 T2 I & 3 At 150,000
03 Al 201 Y] 1,080 900 180
OHXNIZ~EHBE LU ALt S 2 &3 AF 2UHI
150,000,000& = 0.72/100 1,080
S A2 DIRIGHAALY 300,720 380,900 A 80,180
401 Al HI L 2 0HHI 300,720 380,900 A 80,180
01 A& HI 300,000 380,000 A 80,000
OZAAIE QATHAAIS 200,000
Ogutfs2 gz H| 80,000
OZ A2 AIY HAEX 2AH| 20,000
03 A& 20 b 720 900 A 180
Ogutfls2 gz HHl fb]
80,000,000& * 0.90/100 720
A AIK ESALY 150,000 1,012,000 A 862,000
403 ItXISH M S K201 150,000 0 150,000
02 SO 2SOCHSHA= X el A bl 150,000 0 150,000
O&EHAAINK XNSSAIY &8 S =2 150,000
LU AE~CSHE 2N S 2 E S A 70,630 100,900 AN 30,270
401 Al HIL 200 70,630 100,900 A 30,270
1 A& I 70,000 100,000 A 30,000
O AE8~L3lHEH2t T 2IE 3 A 70,000
03 Al& 201l 630 900 N270
OB AE~LolHE2t T 2IE 3 A 2
70,000,000& * 0.9/100 630
ANSHA~NEZ2t T2 E B A 100,000 0 100,000
401 Al HI YL 2 0HHI 100,000 0 100,000
01 A& HI 99,108 0 99, 108
OMBH2A~AEIZ2F T2IHEZ AL 99,108
03 Al 201 Y] 892 0 892
OMSHIZ~AEIZ2F T2 IHEZ2AF 20|
99,108,000& * 0.9/100 892
SHHSAIESE~Z 00 EZ T2 IHE 2 At 50,540 0 50,540
401 Al HI L £ 0HHI 50,540 0 50,540
01 A& Hl 50,000 0 50,000
OS2HUHG AN EE~Z0I0ITIIEZ T2 & S At 50,000
03 A& 20HHI 540 0 540
OS2HHG AN EE~Z0IOIIIEZ S 2 & 3 At
24l 50,000,000& * 1.08/100 540




EA: TAASD

X DX &R TAHE

S SAANEER - (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Nets X S2HEZA 50,540 0 50,540
401 Al I 2 O8I 50,540 0 50,540
01 A& Bl 50,000 0 50,000
OMEE2 43X S2IHE S At 50,000
03 A& S THHI 540 0 540
OME =2 43X+ E2HESAH UL
50,000,000& * 1.08/100 540
Sot0t2 MUE=Z2 FHISA 80,000 0 80,000
401 Al I 28I 80,000 0 80,000
01 A& HI 79,286 0 79,286
OZ0IE S2HESA 79,286
03 Al 20 HI 714 0 714
O&00t2 T2 MES A 20Ul 714
T2as 38 0t FHI3A 100,900 0 100,900
401 Al& Bl & 28I 100,900 0 100,900
01 A& HI 100,000 0 100,000
OR2AS38 0t=et2 FUHISAt 100,000
03 A& = THHI 900 0 900
O72AS3S 0=tz HHI S A 20l 900
S AL TH 24 3,391,155 3,005,832 385,323
= 1,847,000
Al 1,544,155
SANTHEEE AL 3,084,165 3,005,832 78,333
= 1,847,000
Al 1,237,165
201 Let24d] 1,402,033 200,000 1,202,033
= 845,000
Al 557,033
01 At 22l 1,372,033 200,000 1,172,033
OZANMY =28 23 1,372,033
= 827,000
Al 545,033
03 A2 Z Hl 30,000 0 30,000
OEANMY =28 2 30,000
= 18,000
Al 12,000
202 odl 5,832 5,832 0
01 = LH YI 5,832 5,832 0
OZANHEHSE SFH A
1,000& = 3 = 2& = 123 5,832
207 A RO H| 580,000 0 580,000
= 348,000




2N

SANA=H

M D XEE SAIHE
Chel: S ALTH 24 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 232,000
01 289 580,000 0 580,000
OUIEE A 580,000
CEBESS0/0)] TRME - S2F0BE
H Sgdst 580,000
= 348,000
Al 232,000
301 L2 A3 10,000 0 10,000
= 6,000
Al 4,000
09 &ALAHI B &= 10,000 0 10,000
OZEANMY =28 23 10,000
= 6,000
Al 4,000
307 glz2tol & 60,000 100,000 A 40,000
= 36,000
Al 24,000
02 I MNAMHEE 60,000 100,000 A 40,000
OZATHA =02 2AY 60,000
= 36,000
Al 24,000
401 A& BIZ 201 8I 1,006,300 2,700,000 A 1,693,700
= 600,000
Al 406,300
01 A& HI 1,000,000 2,690,314 A 1,690,314
Oscl ZAHY =X AAY 1,000,000
= 600,000
Al 400,000
03 AlE SR THHI 6,300 9,686 AN 3,386
Osel TAHY dZXFAY 20l
1,000,000,000& = 0.63/100 6,300
405 XHoHF S HI 20,000 0 20,000
= 12,000
Al 8,000
01 XL 2 ZFH S| 20,000 0 20,000
OF0&H 24 & ILLSITZRNH2E 23
S 20,000
= 12,000
Al 8,000
S AITHA X & A E 56,990 0 56,990
101 @14 dl 15,054 0 15,054
04 JIZHHZ2XNHEE S 15,054 0 15,054
OZANTHMERNAEEH HREX 15,054
=Jl2g 48,2403 * 18 = 230 11,096
ocxFgg 48,240 * 18 = 47 2,268




SA: CAAED
Ho: OIHNBE AN
Chel o AITHAY

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o 2HAH| 3,000& * 1™ » 230« 690
o HAEF Y| 500,000& * 1Y€ = 23| 1,000
201 Bt 38,244 0 38,244
01 At 22l ] 32,100 0 32,100
O S Al T 24 XJ & Al Z 30 23| 24,000
OZANMNYM =22 EURN eSS 4,000
OZ AN MM o2ty 29 2,000
ONSEE 7Y )
100,000& = 12& 1,200
OMZBRINI 225 F 300,000& = 33| 900
02 352494l 6,144 0 6,144
OdIIe=2 100,000& = 128 1,200
Odlteltex 22 100,000& * 128 1,200
oREe= 50,000& * 12& 600
Od=Hl 300,000 = 4& 1,200
OelgHu 22 32,0008 ~ 12& 384
OsA ¥ d4D] 2dliis 130,000& * 128 1,560
301 et A= 2,592 0 2,592
09 HAIAHI EA =S 2,592 0 2,592
OEAMMALZ 3o & NEEM
81,000& *» 4% % 22 % 43| 2,592
405 KHoaHFE S HI 1,100 0 1,100
01 JHAHE 2 Z 5 S H 1,100 0 1,100
Oy 300,000& = 2CH 600
OAIRE A d 500,000& = 1CH 500
EHBHAl SAITHA N ekHE =9 250,000 0 250,000
207 AT IH £ h| 250,000 0 250,000
01 A72s<H| 250,000 0 250,000
OEHAl SAITHAY M2EAHE 8 250,000
Ed F=AH2EA 841,754 197,540 644,214
= 360,000
= 64,750
Al 417,004
AFH AHHIA M2 34,714 34,214 500
A= &I € dD 33,514 33,014 500
201 Bt A bl 26,514 26,014 500
01 At 22l ] 26,514 26,014 500
OZHEHEO S5 5 400,000& * 23] 800
OASAMIER U2 50,000& * 50 2,500
OAZSHE R A AlQI4
10,000& » 58 * 10& 500




EM: TAASD
M AP FHSHEH
el AZHH MUIA KD (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OH=RAs &= 70,0008 * 198 » 63 7,980
OAZAAS 016l 81,0008 * 192 * 63] 9,234
OHLEA=XTHEE S EBRA YRS 5,500
202 oddl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OH=GI & MDY = 7,000
OtSC2 e-otRA SHOIX 29 &2 1,200 1,200 0
307 21201 A 1,200 1,200 0
05 RIZt2IEt = 1,200 1,200 0
Oe-otA KXzl 100,000& * 12& 1,200
SAl=HEE El 807,040 163,326 643,714
= 360,000
< 64,750
Al 382,290
Bl UMY 100,900 70,000 30,900
401 AIEHIZL 2 CHEI 100,900 70,000 30,900
01 A& Hl 100,000 70,000 30,000
Ogl&E & 100,000
03 A& SR THHI 900 0 900
OBl & 20yl 100,000,000 = 0.90/100 900
SSTFH ALY 192,140 93,326 98,814
< 18,750
Al 173,390
201 Let24d] 3,440 2,126 1,314
01 At 2teltl 3,440 2,126 1,314
OZSFYNY Mo9as Hasg
70,000& * 6Y « 13 420
OZszume 2HZHAAS B2
70,000& * 69Y « 13 420
Ozszwml AMNsg
100,000& » 6% = 13 600
Ozszu@ AN 1S
2,000,000 = 13l 2,000
202 odl 1,200 1,200 0
01 S LHOIYI 1,200 1,200 0
OZSZFY g2 E7 1,200
401 Al HI K 201 I 37,500 0 37,500
< 18,750
Al 18,750
01 A& tI 37,500 0 37,500
OARR ZEF AHEY
1,500,000& * 2504 EH X 37,500




2N
X ZH -
L= B

el

H
5]

x4

4 H|

H o H
> >
44 o ¥
M
N~
Mo
ton

=
ro
o]
0x

ir
x

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

H

Al

18,750
18,750

150,000

90,000

60,000

150,000
150,000

90,000

60,000

= MW

514,000
360,000

46,000
108,000

514,000

201

e
s
Mo
0
=

= M

24,000

7,000
17,000

24,000

01 AtR 22l |

sz a0

gk
)|
=

= M

24,000
24,000

7,000
17,000

24,000

301 LEE A

= N W

10,100
7,000
900
2,200

10, 100

09

= W

10,100

10,100
7,000
900
2,200

10, 100

401 AIEBIZ 20

= MW

479,900
353,000
38,100
88,800

479,900

01 Al
O

a
LEZHE 2 400 A

Bl

03 A2 2 THHI
OAIZ 2 HHI

476,469,000& * 0.72/100

Z W

476,469

476,469

353,000
38,100
85,369

3,431
3,431

476,469

3,431

= Hn

1,530,623
1,224,499
163,062
163,062

1,543,340

A12,717

r

W
=
N
b
0=
i
H
02

= 0N W

1,530,623
1,224,499
163,062
163,062

1,543,340

A12,717

H

1,530,623
1,224,499

1,543,340

A12,717




2M: SAA
B MAS

Sl RODIEZMY PF (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 153,062
Al 153,062
301 et 8= 1,290,623 1,402,442 A 111,819
= 1,032,499
< 129,062
Al 129,062
01 MEIBEZE 06z 1,290,623 1,402,442 A 111,819
OFNZ0 (1,300%) 1,290,623
= 1,032,499
< 129,062
Al 129,062
403 MHXISHE X201 H 240,000 0 240,000
= 192,000
< 24,000
Al 24,000
02 SO 2SO HSHAH2 X 0H & A H 240,000 0 240,000
OxdRX=0 (70MITH) 240,000
2 192,000
= 24,000
Al 24,000
HH2LAZH(SAIASFD) 38,968 38,968 0
Jl= &3l 38,968 38,968 0
Jl2dul(SAIA=s1) 38,968 38,968 0
201 Let249] 32,688 32,688 0
01 At 22/l 30,288 30,288 0
ORNME2Y Jl=ZHl 250,000& = 12& 3,000
OMREE FL(SAMXNS) 200,0008 * 128 2,400
OHFARII & 225 ¢
300,000 = 13CH = 23] 7,800
Oda=dl gz 50,000& = 304 = 12& 1,800
O=gtl 7,0002 * 268 « 7 » 123 15,288
02 2324l 2,400 2,400 0
ORER= 200,000& = 12& 2,400
202 O4dl 2,080 2,080 0
01 = LH 4 Hi 2,080 2,080 0
OHl&d=Z22 20l 2,080
203 YR =2l 4,200 4,200 0
04 FN2IELSZ=TH| 4,200 4,200 0
ORAN2EYE=AHI 350,000& = 12& 4,200
HRES(SAIHAFD) 160,000 240,800 290,800
HEHHX S 150,000 240,800 290,800
HEHH X = 150,000 240,800 A 90,800




EM: TAASD
H: WHRES(TAAZH)
el WRAHAHXS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
701 JIEtSI HSEES 150,000 240,800 90,800
01 JIEtel HE &= 150,000 240,800 90,800
OUXNLE2LSEIAN HES

150,000




